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expr > expr + term | expr —term | term
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factor = digit | (expr)
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term > 0 term.t :='0’
term > 1 term.t:="1'
term > 9 term.t :='9’
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expr.t = 95-2+
exprt-—=208- term.t=2
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expr.t=9 term.t=5
termit=9
9 - 5 + 2
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expr .
expr > expr + term {print('+)} _
expr > expr + term {print(-)} {Print('+)}
expr = term expr . + term
term = 0 {print('0)} /
term = 1 {print('1)} / {Print('-"} / e
expr 5 {Print('2")}
term > 9 {print('9)} — term
term /
5 ~ (Print(5'
9 {Print("9"} { (5)}
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type = simple | array [simple] of type First(type) = {integer, char, num, array}
simple - integer | char | num .. num First(simple) = {integer, char, num}
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expr = expr + term | expr —term | term
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rest > +expr |- expr |E
term->0|1]...|9
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rest > - expr {rest.t ;="' || expr.t} = 9-5+2 (557 o Cuws 60 (535g5L0 48)
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expr - term rest

rest > + term {print('+)} rest | - term {print(’-")} rest | E
term = 0 {print('0")}
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expr

/ \

term rest

S

5 {Print(5')}

expr()
{
term(); rest();
}
rest()
{
if (lookahead =="'+') {
match('+'); term(); putchar('+"); rest();
}
else if (lookahead) =="-") {
match('-"); term(); putchar(-"); rest();
}
else ;
}
term()
{
if (isdigit(lookahead) {
putchar(lookahead); match(lookahead);
}
else error();
}
expr()
{
term();
while (1)
if (lookahead == "'+
match('+'); term(); putchar('+;
}
else if (lookahead =="-") {
match(’-"); term(); putchar(-");
else break;
}
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